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[6] A researcher wish to know if the data they have collected to indicate a difference in
mean serum uric acid levels between two normal population individuals and individuals
with Down's syndrome. For that, a sample of 32 persons from the first population with
mean 5.8 mg/100 ml with standard deviation 1.8 and a sample of 34 from the second
population with mean 4.6 mg/100 ml with standard deviation of 1.4, assuming that the two
populations are normal. Test if there is a difference between the two means at o = 1% .

Use the suitable tabulated value of the following

Zo_4 = 128, 20'49 = 233,

0975, 9) = 2.26, t(os o) = 1.82

P(0<Z<0.95)=10.3289, P(0<Z<148)=0.43

Dr. Hanew Mohamed Moustafa Bosgt wighes



University of Assiut @

Faculty of Science

Department of Mathematics First Semester (2024-2025)
Department of Biotechnology Second level Course: Biostatistics Code: MS 241
Time: 3 hours Final exam Degree: 50 marks Date: 2.2/ L7292

Answer only one of the two following questions(10 marks for each one):

[1] A drug administered to patients increase the hemoglobin (Hb) was measured before
administering the drug. The drug was continued for one month and the increases of

hemoglobin in mg was as follows
Increase in (Hb): 3.1, 2.5, 1.3, 2.6, g9 19 13 LS 1.0 2.8.
Is there a significant increase in (Hb) as an effect? Test thatat o =5% .

[2] It is known that 0.35 of the members of a certain population suffer from one or more
chronic disease. What is the probability that a sample of 200 subjects drawn at random
from this population 80 or more will have at least one chronic disease?

Answer the following questions (10 marks for each one):
[3] In a study to determine the average serum bilirubin of patients admitted to a hospital
for treatment of hepatitis. A sample of 10 patients yielded to the following results : 16.4 ,

205, 14.8, 213, 12.7, 162, 264, 224, " 185, 154.
Construct a 95% confidence interval for the population mean for bilirubin.

[4] The breaking strengths of cables by a manufacturer have normal distribution with
mean 815 kg and standard deviation 45 kg . By a new technique the breaking strengths can
be increased, to test this claim a sample of 50 cables tested and it is found that the mean
breaking strength is 840 kg. Can we support this claim at level of significance 1% ?

[5] A researcher may desire to know the magnitude of the difference between the serum
iron values of two ages of females. The following data explain that the data from two
normal populations with two random samples of sizes 12 and 15.

Age interval | AT Sample size Sample mean Sample standard deviation

@1-50) 12 180 28

e R ERe s 170

What is the probability that the difference between the two means is more than 20 ?

.<‘,f Sk 4
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Agsiut University
Faculty of Computers
and information

B

public class Test{
static void Main(string{] args) {
mta=15,0=10,c=1;
abe k = new abe();

Object Oriented
Programming
Final Exam, 50 points

58 2

2nd Level

Time: 2 hours

abc.a();
k.b(20);
}
}
‘EA second method C | first method
' 20 ; 20
! second method
first method i
B | first method D | second method
20 ot
first method pra e Jy
second method e

49-What will be the output of the following piece cade?

System.out.println(“Three.....”);
System.out.printin{“Two.....”);
System.out.printhy(“one.....”" )

Al Threean C | Compile time error
Two.
one.
Three. .. Two | one. D { Run time srror

System.out.printin{*Result = "+15+20);

50-What will be the output of the following piece code?

A | Result = 1520

C

Result = B

B | Result= 35

D

Result = 1520

Page 6
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Agsiut University
Faculty of Computers
and information

H

public class Test{

static void Main(string{] args) {

inta=15,b=10,c=1;
abe k = new abe();
abe.a();
k.b(20);

—

Object Oriented
Programming Y]
Final Exam, 50 points

2nd Level
20242025 .
Time: 2 hours

i A | second method
20

second method

C | first method
20

first method

B | first method D | second method
20 : 20
first method p e
second method e

49-What will be the output of the following piece cade?

System.out.printin(“Three.....”);
System.out.printin{“Two.....");
System.out.printin(“one.....”" %

A | Three.....

one.....

£

Compile time error

Three, | Two o one...

| Run time srror

50-What will be the output of the Tollowing piece code?
System.out.printin{*Result = "+15+20);

A | Result = 1320

C | Result= 35

B | Result=35

D | Result= 1520

Page 6




1] Assiut University Object Oriented 2nd Levei
Faculty of Computers Programming @) 2024/2025
and Information Final Exam, 50 points Time: 2 hours
[B [Result is: 65. D [Resultis: 67.
47.-Tnvalid possibilitics for array indices include
A | Positive integers. C 7610
B | Negative integers D. " | None of the above
A3-Which expression aqas 1 to the element of array arrayName at index 17
A | +arrayNameli]. @ arrayName[i++].
B | arrayName++[i} D - .| None of the above
44-Cortect Declaration of Values fo variables ‘a’ and ‘0’7
A |inta=32,b=40.6; C finta=42;b=40;
B |inta=232; int b = 40; D jinta=b=42;
A%-Cotrect way To assign vaies to variable ‘¢’ when int a=12, float b=3.5, int ¢;
Alc=a+h C | ¢=a+ int(float(b));
B D |c=int{a+b);

46-Wihat will be the output of the following code?
static void Main(string]] args)
{
inta=15,b=16,c=1;
if (a>b) && (b > ¢))
{ Systern.out.println("cquestionbank™); i
else :
{  breals '}
}

w

A | cquestionbanic ¢ | It will print nothing

B | Compile time error D | Run time error

47-Correct way to define object of & ciass in which Code wiil work correctly 1S :
class abe

1
inti; floatk;
public abe(int i, floatkk) 4§

=11
k=kks 1
}
A { abc sl = new abe(l); C - | abe st = new abe();
B | abe 52 = new abe(1.41); : D | abe s2 = new abe(1, 1.41);
48-What will be the output of the following code?
class abe{

public static void a{)  { Systern.out.printin("first method"); it
public void b} | a(); System.out.printn{"second method"); }
public void b{int )  { System.out:printla(i); bOz= }

Page &



Assiut University Object Oriented 2nd Level

Faculty of Computers Programming (25‘ ) 2024/2025
and Information Final Exam, 50 points Time: 2 hours
double y = 3.0;
double z = Math.pow( X, ¥ );
System.out.println(z);

The above code wiil print 6

rA l True \ B | False _——]

28-Pass by value is the same as pass by reference

{A l True ‘ B l False
29.The main method in JAVA can be declared as: static void main(String [] args)
[A]True | B [False .
30-Student as a type can be classified as 2
[ A | attribute ’ C  [set 3
| B [class D | operation
31-"Set Address" as a type can be classificd as. ?
mattribute @ set
[ B | class D operation

32-The name of a constructor is not the same name as the class.

[A [ True E False

33.A static variable, which is sometimes called a class variable.

A | True B | False
34-Static methods can be invoked through the class name.

m True \ﬂFalse j

35-The next code
public class ShowErrors {
static void Main(String[] args) {
ShowErrors t = new ShowErrors();

tag b )
['A [ Has errors [ B [ Has no errors b

36-Which of the following swatements about arrays are true?
A. An array is a group of variables containing values that all have the same type.
B. Elements are located by index. ;
C. The length of an array c is determined by the expression c.length();.
D. The zeroth element of acray c is specified by c[0].
(Afa D c. 0D |
[B1A,B,D Diis A B 6 D, |
37-What is
class TestClass {
int x,y;
public TestClass()
{ Console. Write("BISI"); 5

Page 3



Assiut University Object Oriented g 2nd Level
Faculty of Computers Programming m &) 2024/2025
and Information Final Exam, 50 points Time: 2 hours
~ public int getX()
{ return x;}
}

public class BISExam {
static void Main(String [] args)
{ TestClass test= new TestClass(); Systemout.println(test.getX()*20); }

t
A | BIS110 C BIS10
B |i0 B0
38-Consider the array:
s[0]1=7 sf11=0 s[2]1=-12 s[3]=9
s[4]1=10 s{51=3 s[6]=6 :
The value of s[s{6] - s[5]] is
AlO G
B9 D 16
39-What do the following statements do?
double[] array;
array = new double[14];
A | Create a double array containing 13 | C | Declare but do not create a double
elements array
B | Create a double array containing 14 | D | Create a double array containing 15
clements elements .
Z0-Which of the following initializer lists would correctly set the elements of array n?
A linf{]n={1,2,3,4,5}; © array nfint] = {1, 2,3, 4, 5};.
B |intn[5]= {1;2;3;4; 5}:. i8] int n = new int(1, 2, 3, 4, 5);.
41-Consider the program below :

public class Test{
static void Main(String[] args) {

intll a;
a = new int[10];
for (int i = @; i < a.length; i++) afi] =1 + 2;
int result = 9;
! for (int i = @; i < a.léngth; it++) result +=
a[il;
System.out.println("Result is:"+ result);
}
¥
The output of this program will be: 3
‘ A | Result is: 627 _ ‘ } ¢ 1 Result is: 64. J

Page 4



Assiut University Object Oriented 2nd Level

Faculty of Computers Programming m\‘-b) 2024/2025
and Information Final Exam, 50 points Time: 2 hours

12-System.out.println(*\” \t”"+3+5); priats .......
Al 8 © | 35
BI= 34 D 8
13-The next statement: int count, minimum = 0, result;
A | count=0 C | count and mirimum equals zero
B | All the three variables equal zero | D. | only minimem = 0

14-A compiler takes a high-level-language program and translates it into an executable
machine-language program :

[é | True l B] False ]
15-An identifier can begin with a digit :
IAiTrue |-B]False l

16-The print method prints the information sent to it, then oves to the beginning of the next
line :

[A ‘ True ] B I False - [
17-We can not modify final identifier

{A’True |B(False |
18-In the primitive data types, we have four subsets of integers

| A ! True l B | False |
19-Everything rather than primitive data types is represented using objects

]A]True IBIFalse |
20-A CLASS is a number that uniquely identifies an object

| A] True | [B]False |

21-Arithmetic operators are called binary operators when you use two arguments with each

operator.

| A] True | B | False ]
22-* has higher precedence than + :

| A I True |VB ;False |
23-The size of char data type in JAVA is 8 bits

[AITruc |B|False }
24-int num=5.6; will give a run time error

Ié l Thiits e I B | False I
25-We can create multiple objects from a single class :

[ ATTruc I B [ False |
26- int g = 1; System.out.println(++g * 8); the previous code will print 16

! A | True I B I False I
27-double x =2.0; . :
Page 2



Assiut University Object Oriented 2nd Level
Faculty of Computers Programming 260'<.) 2024/2025
and Information Final Exam, 50 points Time: 2 hours

12-System.out.println(“\” \t*+3+5); prints .......
A 8 G 35
Bl 34 195 8
13-The next statement: int count, minimum = 0, result; ¢
A | count=0 C | count and mirimum equals zero
B | All the three variables equal zero | D. | only minimem = 0

14-A compiler takes a high-level-language program and translates it into an executable
machine-language program

]A|True ’BlFalse |
15-An identifier can begin with a digit '
[ A i True lB ’ False J

16-The print method prints the information sent to it, then moves to the beginning of the next
line :

! A l True ] B I False - |
17-We can not modify final identifier

[ AJ True [ B [ False |
18-In the primitive data types, we have four subsets of integers

[ A True | B | False e
19-Everything rather than primitive data types is represented using objects

l A I Tie l B lFalse : |
20-A CLASS is a number that uniquely identifies an object

| A True s | False |

21-Arithmetic operators are called binary operators when you use two arguments with each

operator.

|A|True [B|Falsc ]
22-* has higher precedence than +

| A | True | B | False |
23-The size of char data type in JAVA is 8 bits ;

lAITrue lBlFalse 4:
24-int num=5.6; will give a run time error

rA ’ Frlie = [ B | False |
25-We can create multiple objects from a single class

| A True | B | False |
26- int g = 1; System.out.println(++g * 8); the previous code will print 16

|l A |L True | B | False J

27-double x = 2.0;

Page 2
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